
 

More on Heaps

Suppose we are to initialize a new empty

heap and insert 40,88 106 14,3 16,60 8

into it

We could start with an emptyheap
and

do 8 inserts

It is more efficient however to Simply

write those values into our array and
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if value at node 1 is out of

order with its children send it

down swap with smallest child

Clearly this is a bottom up approach

Why is bottom up preferred over topdown

in this DS

Analysis
the max an element will have to

move af is its depth

the mat an element will have to
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How many nodes have great height

Analysis of worst
case for bottom up

heading downwards
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O Max swaps if heapify downward

all elements bottom up I o n n

If we to heapify upwards what is

worst case
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